DB

Rol Mo . o0

Proficiency Test, 2022-2023

Time 2 hrs. : : Class X1 (Science) " M. M. 100

‘Note :

i)  Method of Answering the Question :- 0@ O 6

i) Darken the circle with sketch pen.

English

Read the passage given below and answer the questions that follow :

THE PERILS OF HIGH BLOOD SUGAR

When you eat, the carbohydrates in your food are turned into glucose
(sugar), which circulates in your bloodstream. Insulin, a hormone that’s
produced in your pancreas, lets your cells absorb the glucose from your
blood and uses it for the energy they need to function.

If you have type-2 diabetes, your body doesn’t respond quite as well to
insulin, so the unused sugar builds up in your bloodstream. When you
have prediabetes, you're not fully reacting to your insulin, but your blood

‘sugar levels aren’t as high as they would be if you had full-fledged diabetes.

High blood sugar is dangerous because it harms your blood vessels by
lowering your level of nitric oxide, which keeps blood vessels open and
supple. The result is narrowing and stiffening of blood vessels, which can
lead to high blood pressure, blood vessel damage and may cause heart
disease as well as affect your vision, your kidneys and your ability to heal.
The damage to your blood vessels starts well before your blood sugar
reaches the level at which type-2 diabetes is diagnosed. That’s why doctors
are so keen on recognizing and treating pre-diabetes early - so you can
stop or slow down problems down the road.

Getting at least 30 minutes of exercise, eating low-cal, high-fibre nutritious
foods, cutting down stress, sleeping well and losing weight is the key to
managing the condition. “Your doctor will prescribe you medicines for
elevated blood glucose if the levels are not controlled in spite of adequate
dietary restrictions and exercise,” says Dr Binayak Sinha, consultant
endocrinologist at AMRI Hospitals, Kolkata. He also recommends that
people with prediabetes check their sugar levels once in three months and
an HbA1C blood-sugar test every six months.
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10.

On the basis of your understanding of the above passage, complete the following
statements by choosing the correct options :

Insulin is a kind -of ........ e

a) carbohydrate ~ b) glucose c) cell d) 'Hormone.

INSUNIT 1S PrOaUCEE N .....convvnenenviviain-

_a) pancreas. b) carbohydrate c) hormone d) glucose

The patients with type-2 diabetes do not respond much to ...............

8 sugér b) energy c) Full-fledged diabetes d) insulin
...................... keeps blood vessels open and supple

a) High blood sugar b) Nitric oxide

c) Bloqd pressure | d) All of the above

Narrowing and stiffening of blood vessels can cause ........ fbsie g g g :
a) high blood pressure b) blood vessel damage

c) heart disease d) all of the above

Which of the following is not recommended for managing diabetic condition ?
a) | Eating nutritious food b) Cutting down sleep

c) | Cutting down ‘stress d) Physical exercise

Fill in the blanks with appropriate form of verb :

BI0 Lo sMncs i e in this house since 2001.

a) liquid b) living c) has been living d) live
e TR A O e him yesterday ?

a) call b) calls c) called d) calling

Choose the appropriate passive form of the following sentences :

He cut the wire

a) The wire is cut by him b) The wire was cut by him

c) The wire has cut by him d) The wire had been cut by him
Sit down

a) let down be sitted b) be seated

c) let be sit down d) do ‘sit down
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13.

14.

15.

16.

17.\

18.

19.

20.

21,

LK.

Choose the synonym of the following words :

Omnious

a) auspicious b)  inauspicious c) favourable d) sacred -
Concord ’

a)  disagree b)  accord c) refuse d) deny

Choose the antonym of the following :

Hypothesis

a) Assumption b) Guess c) disdain
Hazard

a) safeguard b) peril B menace

Choose the word that spelled correctly :

a) Execpt b) Excpet c) Except

a) Haemorage b) Haemorrhage c¢) Haemorrage

Fill in the blanks with suitable determiners :

FIOW oo inariinssienil] sugar do you take ?

»a) - more b) much c) many
TR hope of his recovery
a) - few b) some c) little

Fill in the blanks with appropriate preposition :

it takes tWO ........co...... 0 make a row.

a) on b) to c) by
| would like to see you .................. Diwali.

a) on ; b) in c) at

Choose the suitable word for following sentences :
A group of the trees
a) flock ‘ b) groove c) herd

Government of the officials
a) aristocracy " b) plutocracy c) bureaucray

d) conjecture

d) danger

d) Excpte

d) Hemoraise

d) most
d) ' least
d) in
d) to
d) pack

d) democracy
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23.

24,

25,

26.

27.

28.

29.

30.

Fill in the blanks with suitable modals :

E i ot rather die than surrender.

“a)  could _ b) should c) might ~ d) would
PR . s dare to enter in the prohibited area |
a) will b) can c) ~ should d) could

" Choose the meaning of the following idioms :

Bone of contention stands for
a) cause of smoothness b) cause of disturbance
c) cause of happiness d) cause of laziness~

Swan's song' stands for

a) - kin desire b)' pass_ion c) aversion d) aloofness

Which one of the given options is the correct form of the sentences given below :

He said to me, "Did you not press the button ?"

a) He asked me that | did not press the button
b) . He asked me if | had not pressed the button
c) \‘ He told me if | would not presss the button
d) ' He tells me that he did not press the button

Which one of the following is correct sentence :
Handsome/does/that/handsome/is/one

a) Handsome is does handsome one

| b) Handsome is one that does handsome

C) Handsome is one that handsome does

d) Handsome does that handsome is
Choose the appropriate literary device given below :
He is as innocent as lamb

a) metephor b) simile c) imagery d) alliteration

He is the Harish Chander of the age

a) simile b) metaphor c) alliteration d) paradox -
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Maths
< If x = 1 is a common root of the equation ax> + ax + 3 = 0 and
X2+x+b.= 0 then ab = :
e x = 1 %amw’immax2'7+ax+3=0a'x2+'x+b=07=m‘1$
gisw =X & @ ab w1 #H @M .
a) 3 - bl 3db c) 6 d) -3
L. If the equation x> - bx + 1 = O does not possess real roots, then
It o G x2 - bx + 1 = 0 @ el an«diass F@ € at
N I EDEL D o 8 S R
gl ».h>» 2 di b < -2
¢ 4 8 The zeroes of the quadratic polynomial x> + ax + a; a = O
~ a) cannot both be positive “b) cannot both be negative
c) are always unequal d) are always equal
fgara @HeRoT X2 + ax + a;a = 0 ® W
a) . S ¥ATEe @ 8 "Wed b) Qi RUTcHS® &l & Thd
c) HH YT BN d) W= guE g
34. If one zero df the polynomial f(x) = 5x2 + 13x + k is reciprocal of the
other, than the value of k is
ﬁ@tf(x)—5x2+13x+kwwar§a%wqam%'éﬁkaﬁ
o= -
1
a) O ' b) 5 c) 6 d 5
J9. A solid piece of iron of dimensions 49 cm x 33 cm x 24 cm i
moulded into a sphere. The radius of sphere is
a) 21 cm b) 28 cm c) 35 cm d) None of these
AR T UF S THS EeE WM 49 cm x 33cm x 24cm € ®
et U e == femr ®, el Wt B @
a) 21 cm b) 28 cm c) 35 cm d) =99 ¥ HIE €
Set1I Xl - Proficiency Test - 5
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36.

37.

38.

39.

40.

41.

The area of a circle whose area and circumference are numerically
equal, is

a)  2m sq. units A i 67 sq. units
c) 87 sq. units - d) 4gn sq. units .
uh g free daee o iy dere wEm § o fewe @
a) 2n = b) 6n = THE
c) 8n =t R d 4rn =t 3w

If the volumes of two spheres are in the ratio 64 : 27. The ratio of
their surface areas is

afg A WAl H AEAT 64 1 27 T A IV TSA &ABA BN I @

‘sl 2 < 23 c)16:9 d9:16

If AABC ~ APQR such that ar (AABC) = 4 ar (APOR) and BC =
.cm, then QR =

g AABC ~ APQR q &}.(AABC) = 4&}.(APQR) o BC =12 ¢em
@ QR w1 W ? -
a) 6 cm b) 8 cm c) 10 cm d) 9 cm

AABC is an isosceles triangle in which /C = 90°. If AC = 6 cm,
then AB =

AABC ©% fiag Brpsr @ ¥ ,C = 90° @ AC = 6¢cm @ AB &1
o= 2
a) 6 cm ~b)6J2cm c¢) 2 /6cm d) 4,/2cm

_If two tangents inclined at an angle of 60° are drawn to a circle of

radius 3 cm, then length of each tangent is equal to

afe foredt ga Rt Breem 3 & @ ™ @il W et et @ e @
FOT 60° & A UHH TR @l H e B

a) icm b) 6 cm c) 3./3cm d) 3 cm

2

If radii of two concentric circles are 4 cm and 5 cm, then the length

‘of each chord of one circle which is tangent to the other circle is
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42.

43.

44,

45.

46.

47.

Y Gh gail  Boam 4 At 7 5 AHL F | U g B T8 T Sien
a)3cm b) 9 cm ~¢)6cm d) 1 cm

If x = asecep andy = b tang, then b2x? + a?y? =

IfC x = asecp T y = btang @ b3x? + a?y? =

a) a*b* b) a2+ b2 . ¢c)ab : d) a%b?
Cos*A - Sin*A = :

a) 2cos?A -1 b) 2cos?A + 1
&) 2 sin?A - 1 d) 2sin?A + 1

If sing — cosp = O, then the value of sin*g + cos?*g is
gfg sing - cos@ = 0, d sin*g + cos*g
2 4
If cos99 = sing and 99 < 90°, then the value of tan6g is
afe cos99 = sing T 99 < 90° & tanb6g H HT B

, 3
a) 1 b) 3 c)

E

' : 1
e o3 b)7_§ c) 1 d) O

From a well shuffled pack of playing cards, find the probability of
getting a numbered card ‘

T IS g ¥ BEcH phd T 3% H HEgFd Udl 3T S Uitdehdr

g
1 gl i 0 d ——9—
a) )13 c) )13

In a simultaneous throw of a pair of dice, find the probability of
getting an even number on one and a multiple of 3 on the other

A U HHES W TH IH W Y G F TE G 3 HT ORI
uitreRer &

gA ' ) 3 °) 36 ) 36
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48.

49.

50.

ol.

52!

53.

54.

5n
If the mean of first n natural numbers is ~9— then n =

aﬁqzﬁnmmaﬁwm—%ﬁn:_

a)b b) 4 c)9 d) 10 .
Xi—25 : '
If u = 10 ,y Thu; =20, T§=100 then x = ....icouernnens
x; —2b
g u = 10  TEu=20,3T§=100 then .= o' cocirernns
a) 23 b) 24 125 d) 27

If the median of the data 6, 7, x — 2, x, 17, 20 written in ascending

order is 16, then x =

uﬁa@é’rmﬁ%@m@a67x 2, x,17, 20 =T °T&TF 16 ©

A x H A T

BatLs v b) 15 c) 16 d) 18

\The mode of a frequency distribution can be found graphically from
a) Histogram b) Frequency polygon c) Ogive d) Frequency Curve
fpdt eTgfY oTeeT W Wgel FeRleH % AU ugEd B At EE
fafr =1 9m @

a) o™ b) 3T EYST  c) JoEd 9% d) ST a6

Sum of n terms of the series /2 + /8 + /18 + J32 + ........ is
i St S n I F S & /2 + V8 + /18 + V32 + oonenn.
a)MZ;" b) 2n(n+1) C)MZ%” d) 1

The next term of the A.P. /7, /28, /B3, -+cveereuennen. is
FHTVTAT TTRT [T, 28, 631 cveerrvveereens HT ST IS}

a) /70 b)J8—4 c) /97 d /112

The ratio in which the line segment joining p(x,, y,) and Q (x,, y,) is

. divided by x — axis is
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95.

58.

b7.

58.

68,

60.

p(x,, y,) T Q(x, Y, 1 e ot T W x - A I A
frafa T ® @@ ST o-
) Yy sy ‘B)—y, ¥y 6l %o %y d) —x, ' X,

The distance of the point.(4, 7) from the y-axis is
g (4, 7) W y-3T A A T
a) 65 b) 11 W - d) 4

If the centroid of the triangle formed by the points (a, b), (b, c) anc
(c, a) is at the origin, them a® + b +H e =i e

ﬂﬁ'(a,b),(b,c),(c,a)mmﬁaﬁ%ﬁamm%ﬁg%?ﬁa

a) abc b) 3abc c)atb+c d) O

If the point (x, 4) lies on a circle whose centre is at origin and radiu
is 5, then X = ..occvvenninnnn,

o B (x, 4) wﬁﬁwﬁ@mamsﬁw%;

e

8 %3 b) +5 c) O d) +4

=t ’1 with the c

O I<

. £ X
The area of the triangle formed by the line F +

ordinate axis is

i@§+%=1mmﬁqga%mmﬂéﬁaﬁwm
a) ab b) 2ab c) %2ab d) Yaab

If the system of equation kx — By = 2. 6x + 2y = 7 has no solutio
then k = :

ﬂﬁ’«?‘@"fﬁgmkx—5y=2,6x-+2y=7waﬁ€3ﬁ?ﬁ%?ﬁk

a) -10 b) -5 . d) -15
The area of triangle formed by the lines x = 3, y=4pdx =Y
a) Y2sq. unit b) 1sqg. unit c) 2sq. unit d) None of the

@ x =3, y=4F x =y EN S A BT B ATEA
a) % aif s b)1 =i R c) 2 T TR d)gH & I

e
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62.

63.

64.

Science

The strength of magnetic field inside a long current - carrying straight -
solenoid is :- : -

a) More at the ends than at.centre

b) Minimum in the middle

c) Same at all points

d) found to increase from one end to the other
Tw Ot frga uRT geied aREifeset § e -
a) T S 3ImUen U WX S

b) U= H WEQ HH

c) it fagelt W wEE @em @

'd) wH R ¥ TR W WH S O FqEdr

A rectangular coil of copper wire is rotated in a m‘agnetic field. The
“direction of induced current changes once in each :

a) one revolution b) two revolutions

'\c) - one fourth revolution d) half revolution

@ W AR B H STAAHR Heel Rl e & F ol i w @
¥ | 3@ weet d ARa fea uw @ feen # fRam aRumor & s aReds
g g 2

a) Uk bl & c) =huE d om

The material of the core of a strong electromagnet is :
a) steel - b) soft iron c) brass d) copper

@W%ﬁa’ww'aﬁgﬁmiﬁaaﬂm%?
a) =i b) IH <A@ c) i) d) dfar

The compound which is used for removing permanent hardness of
water is :

frafafaa § ¥ &9 @ A 9 B T FHIRAT g B H OB S0l
g 2

a) NaHCO,  b)CuSO,.5H,0 c)Na,SO, d) Na,CO,.10H,0

SetII
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65.

66.

67.

68.

69.

Which of the following contains oxalic acid :
a) . sour milk b) orange c) Tomato d) Tamarind

,ﬁm%ﬁa?rﬁﬁwmf&ra?am-@w%v

L b) FeRT c) THRT d) =t

What is the maximum resistance which can be made using five
resistors each of 1/5Q ?

mgﬁmmﬁmq%ﬁw1/5gw%@raﬁawm
uﬁﬁawmwm%v
a) 1/5Q b) 10 Q c) 5Q LA

The resistivity does not change if :

a) The material is changed

b) The temperature is changed

c) The shape of resistor is changed

d) Both material and temp. changed

gy E Seerl S |

a) e SR S b) dOHE & ST

c) ufeiuss 1 AR FeA S d) geref @R dmEE S St S

Unit of power may also be expressed as :

a)  volt . ampere | b) Kilowatt . hour

c) watt. sec d) Joule . sec

foe viFd & HoRe H QR o Toitar ST WHAT ©

a) dree x THEX . b) FeelEe x =T

c) @ x WHS d) A x HHS

The laws of reflection hold good for :

a) plane mirror only ‘ b) Concave mirror only
c) convex mirror only A d) For all type of mirrors
Eds W SEm oSt Wl § o

a) et aFaet quur ® o b) sTEdel gdur & oA

c) Iaa Tdur ® ol d) @t gHR % Tdur ® foF

Set H
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70.

1.

72.

73.

74.

5.

If an object is placed between infinity and optical centre 'O" in front of
concave lens the nature of image formed will be :

a)  Real and Inverted ~ b)  Virtual and Erect"

c) Real a}wd Erect : d) None of these

af ww RiE I o ® WEH ST 9 o ® Ui $= ‘0"
® S @ e s, @ ufafie s gt S e

a) orRE® R Seer b) omuR ST der

c) ardfass SR den d) 39 ¥ HE =&

~An object is placed at a distance of 100 cm in front of convex lens
having focal length 50 cm. The image distance will be :

T fow, suer i@ et wew gt 50 cm ®, # ¥R 100 cm # @
X forg @ 1 ufafis =t Refy = @

- a) 50 cm b) 150 cm c) 100 cm d) 200 cm

!

' Which of the following is most non-metallic element ?
Frffied & @ #9 @ a0 Te@ O enmfeE & o
\|a) Br b) Cl c) P d) S

\ £

Which of the following elements would lose an electron easily ?

Frfeiae & @ #7 @ o9 omEE @ e W w1 o
a) Mg b) Na c) K d) Ca

Which of the following sets belong to same group ?

fr=fefaes & @ 9 @ IR P S wgE ¥ Geafua @ o

i) Na, Mg, Al ii) Be, Mg, Ca iii) He, Ne, Ar iv) B, Al, Si

a) (i) and (iv) - b) (i) and (ii)

c) (i) and (iii) d) (ii), (iii) and (iv)

Silver article turn black after a period of time because of formation of:
a) Silver oxide b) Silver chloride

c) Silver nitrate d) Silver sulphide

= B ARE T P Wy BRE A 9 W oseh B e &)
a) e IS b) Rooax FERIES c) TR AeeT d) faoax gowEs

SetII
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76. Mg dissolves in hot water to form
- Ao A § oger X FE S § 2 ,
a). MgO b) Mg(OH), c) MgOH d) MgO.Mg(OH),
7. Copper re‘acts with dilute nitric acid and liberates :
a) Nitrogen dioxide b)  Nitric oxide
c) Nitrogen pentaoxide d) Nitrous oxide
Wﬁq@@mm%maﬁmm%aﬁrm% |
a) TSI SRIATES b) -Efew AFEES
c) HATEIISH USTIHHES - d)  EEH SFATSS
78. The correct electron dot structure of a water molecule is :
qrft @ o] B B W@ TeEEH g w3 €
[ N [ N J [ N J
‘N NN bjH:0 . H chH:0Q ¢ H M0 N
[ N J [ N J 20
79. Select a pair of homologous from the following :
frefefaa & ¥ o wEESCE ST o
a) C.H, and CHy b) CH,COOH and C,H,COOH
c) CHgand CH, d (CH,), CO and C,H,CHO
80. Unsaturated hydrocarbon among the following is :
a) Ethane b) Methane c) Ethylene d) Propane
frafefaa § @ F9 @ ST eEIEET © |
a) T b) 2= c) SR d) =
81. Enzyme which is absent in pancreatic juice 7
a) Amylase - b) Lipase c) Pepsin d) Trypsin
PR @ W B o ueied faemm @ g |
a) U b) &=aST c) ufta= d) fefta=
82. When ATP is converted into ADP, it releases
a) Hormone b)  Secretion
c) Enzyme : d) Energy
Set 1I Xl - Proficiency Test - 13
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s ATP, T ADP ® =corar 8, o8 oiedl & :

a) &mH bjea . ¢ A d) It
- 83. Which blood constituent makes up most of blood volume ?°
a) Red blood cells : b) Plasma
c) Blood protein d) White blood cells
T B AT MW T H B A A AN €L
a) ST & SHIRTEHIY b) Tl
c) & WM d) ¥ET TR HIRTERE
84. Bowman's cap'sul‘fe is found in :
a). Small intestine b) Heart
c) Brain d) Kidney.
a) B qd H ' b) =73
c) HRa=R d) gF6
85. '\ Budding type of reproduction is found in : 1
‘ 'a) Peepal - b) Rose
c) .Sugarcane d) Bryophyllum
HHe™ H TE B Yo BRE H U@ S R
a) due b) TN c) = d) SifEeTs
86. Pollination in maize occurs by :
a) Insects b) Water c) Air | d) Animals
. T e R U
al  =ErE b) o & c) & A d) werai A
87. In male, urethra carries :
a) Sperms only b) Urine only c) Both of these d) None of these
T H, qEEn wel S €
a) hael YERIII b)®aet I c) IT S H d)TH H BIE @G
Set 11 XI - Proficiency Test - 14
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88. 'World Environment Day' is celebrated on :
a} b June b) 11 July c) 16 October d) 26 December
a)- 5 S b) 11 STes c) 16 SFISX  d) 26 TeE=R
89. In food chain comprising of snake, grass, frog and insect, the secondar
consumer is : '
a) insect b) snake c) grass d) frog
2 | ,
a) @i - b)@im c) =9 d) He
90. Most important greenhouse gas is :
T AETTF GHE N R
a) CFCs b) CH, c) CO, - d) NO,
oo G. K.
91. Who was the writer of the book 'Hind Swaraj' ?
a) Rabindranath Tagore b) B. R. Ambedkar
c) Mahatma Gandhi d) Jawahar Lal Nehru
o< = g B oEs w9 )
a) o= 20k ' b) . 3W. IESHT
c) WEHT el d) SERT T BE
- 92. In which year the Second Round Table conference was held ?
fgd Terst v *E @ ad § st e mr o
a) 1931 b) 1935 c) 1938 d) 1945
93. Which of the following is not a Himalayan river ?
a) Indus : b) Brahmaputra c) Godavari d) Ganga
Set IT Xl - Proficiency Test- 15
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e & @ i @ 98 w9 9@ Heerdt 2
a) foy " b) @A c) TeTEd © d) wm

. 94. Dudhwa National Park is located in the state of ?

a) Assam b) Uttar Pradesh
c) Madhya Pradesh - d) Rajasthan
e UL Uk A A o H fmmm @ 2

a) 3TEH b) IO U = ¢) HHA YW d) TSTE=

95. Tertiary coals occur in the region of ? :
a) North - western States b) Coastal states

o) North - eastern states d) Southern states
Tt o W 8 et feme ¥ o |
a) SW-UREH T b) W T
c) SW gl T N d) <Rt T
96. In what ratio are iron ore, coking coal and limestone required to make
steel ?
ST 2 '
a)4:2:1 b)4:1:2 ke T s d4:3:2

97. Which state has the highest road density in India ?
a) Punjab b) Kerala c) Tamil Nadu d) Karnataka
Rg § O SOl §S% "9cd hY ST W U™ SEr ® 2

a) dSTE b) =Tt c) aferTg d) Ates
98. Who was known as Iron man of India ?
a)  Govind Ballabh Pant b)  Jawaharlal Nehru
c) Subhash Chandra Bose d) Sardar Vallabh Bhai Patel
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99.

I ® ole oY $ AW A BRY S S § 2

@)  Tifag S 9d : b) SEEL T AE®
c) g == I _ d) WER Fead 9E TR
Which fighter plane India purchase recently from Francé ? ’
a) Rafale b) F-35 c) F-22 Raptor d) F-16
TR X T @ ¥ wiE ¥ A W g GO wl| € 2
a) User b) F-35
c) F-22 %X d), F-16

100.

\

‘Who appoints the Prime Minister of India ?

a) Lok Sabha b) President
c)  Parliament d) Citizens of India

R B guEES ® PR A e 2

a)  AeRaHl b)‘rrtz;ﬁr c) WEg d) 9Ra ® AR

\
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